



Article Using the Ordered Weighted Average Operator to Gauge Variation in Agriculture Commodities in India

Sandeep Wankhade ¹, Manoj Sahni ^{1,*}, Cristhian Mellado-Cid ² and Ernesto Leon-Castro ²

- ¹ Department of Mathematics, Pandit Deendayal Energy University, Gandhinagar 382426, Gujarat, India; sandeep.wphd21@sot.pdpu.ac.in
- ² Faculty of Economics and Administrative Sciences, Universidad Católica de la Santísima Concepción, Concepción 4070129, Chile; cmellado@ucsc.cl (C.M.-C.); eleon@ucsc.cl (E.L.-C.)
- * Correspondence: manoj.sahni@sot.pdpu.ac.in

Abstract: Agricultural product prices are subject to various uncertainties, including unpredictable weather conditions, pest infestations, and market fluctuations, which can significantly impact agricultural yields and productivity. Accurately assessing and understanding price is crucial for farmers, policymakers, and stakeholders in the agricultural sector to make informed decisions and implement appropriate risk management strategies. This study used the ordered weighted average (OWA) operator and its extensions as mathematical aggregation techniques incorporating ordered weights to capture and evaluate the factors influencing price variation. By generating different vectors related to different inputs to the traditional formulation, it is possible to aggregate information to calculate and provide a new view of the outcomes. The results of this research can help enhance risk management practices in agriculture and support decision-making processes to mitigate the adverse effects of price.

Keywords: coefficient of variation; agricultural yields; OWA operator; market condition; uncertainties; productivity; decision making

MSC: 03B52; 68T37

1. Introduction

Agriculture serves as a primary source of food, feed, fiber, and fuel worldwide, and agriculture prices are a vital component of the agricultural sector. These prices have a significant impact on the livelihoods of farmers and the overall economy of a region or a country. Since agriculture is the primary source of food production, it is important in providing sustenance and nutrition to the population. These statements emphasize the interconnectedness of agricultural prices and the availability of food for consumption. However, the agricultural industry faces numerous uncertainties that significantly impact its prices, such as unpredictable weather conditions, pest infestations, and market fluctuations [1,2]. Accurately assessing and understanding price is essential for farmers, policymakers, and stakeholders in the agricultural sector to make informed decisions and implement effective risk management strategies.

This study delves into employing the ordered weighted averaging (OWA) operator to measure the coefficient of variation of rice prices in India [3]. This is a mathematical approach that incorporates the notion of ordered weights. This technique enables a thorough evaluation by accounting for the significance of distinct factors that impact agricultural results. By assigning appropriate weights to input variables related to weather, pests, market conditions, and other relevant factors, the OWA operator provides a robust framework for capturing and evaluating the diverse influences on price variation [4,5].

The results of this research have the potential to significantly contribute to enhancing risk management practices in agriculture [6]. Farmers can benefit from a better understanding of the factors contributing to price variation, enabling them to implement appropriate



Citation: Wankhade, S.; Sahni, M.; Mellado-Cid, C.; Leon-Castro, E. Using the Ordered Weighted Average Operator to Gauge Variation in Agriculture Commodities in India. *Axioms* **2023**, *12*, 985. https:// doi.org/10.3390/axioms12100985

Academic Editors: Darjan Karabašević, Liang Wang, Alvaro Labella, Yixin Lan and Zixin Zhang

Received: 4 September 2023 Revised: 5 October 2023 Accepted: 16 October 2023 Published: 18 October 2023



Copyright: © 2023 by the authors. Licensee MDPI, Basel, Switzerland. This article is an open access article distributed under the terms and conditions of the Creative Commons Attribution (CC BY) license (https:// creativecommons.org/licenses/by/ 4.0/). strategies to mitigate risks and optimize their yields. Policymakers can make informed decisions based on comprehensive assessments, leading to more effective policies and interventions to support agricultural stability and sustainability. Moreover, stakeholders in the agricultural sector, such as suppliers, distributors, and financial institutions, can use the insights gained from this research to develop tailored risk management solutions and support farmers in managing and minimizing the adverse effects of price.

In 2021–2022, agricultural products worth USD 37.3 billion were exported from India, exhibiting a notable growth of 17% compared to the year 2021–2022. India's prowess in the agriculture sector and its ability to maintain a steady upward trajectory in exports further solidify its prominent position in the global market. In 2021–2022, rice emerged as India's foremost agricultural export, constituting more than 19% of the total agricultural exports. Other significant exported products included sugar, spices, and buffalo meat, which accounted for 9%, 8%, and 7%, respectively, of the agriculture exports during the same period. Notably, wheat exports witnessed substantial growth and wheat worth USD 2.1 billion was exported in 2021–2022, a significant increase from USD 568 million in 2021–2022 [7].

Another noteworthy milestone was achieved in the coffee sector, as coffee worth more than USD 1 billion was exported for the first time. This achievement has positively impacted coffee growers in Karnataka, Kerala, and Tamil Nadu, improving realizations. Furthermore, the coastal states of West Bengal, Andhra Pradesh, Odisha, Tamil Nadu, Kerala, Maharashtra, and Gujarat have experienced the benefits of increased export of marine products, worth USD 7.7 billion. This has proven advantageous for farmers in the coastal regions, providing them with increased opportunities and economic gains [8].

The use of aggregation operators, such as the OWA operator, in the traditional coefficient-of-variation formula offers several benefits that contribute to a deeper understanding of the market [9–11]. These operators generate diverse results not previously observed, expanding the insights gained. Additionally, the study delves into specific scenarios that encompass extensions of OWA with the coefficient of variation (OWA_{cv}) and its extensions [3,12].

The fundamental idea driving these novel formulations is to obtain results that encapsulate historical data beyond standard deviation and average calculations. The volatility calculations can be enhanced by incorporating the decision maker's expectations, knowledge, and skills [2]. This is achieved by using diverse weighting vectors and distinct scenarios belonging to different categories. This approach can enhance the decision-making process for corporations, investors, governmental entities, and other stakeholders. By leveraging the power of mathematical aggregation techniques and incorporating the complexity of price dynamics, this study seeks to contribute to a more comprehensive understanding of the volatility in agriculture and facilitate evidence-based decision-making processes to ensure a stable and sustainable pricing system [13–15]. To illustrate the application of these new formulations, this study employs them to calculate the price of rice for the year 2023. A range of diverse outcomes can be generated by incorporating price data of rice from 2022 to 2023 and leveraging input from the decision maker through weights, induced vectors, and probabilistic vectors.

The remaining sections are organized as follows: Section 2 provides the preliminary formulations of the OWA operators and their extensions, the coefficient-of-variation formulation, and the OWA_{cv} operator and its extensions. Section 3 presents the results of using the aggregation operators for calculating the price of rice in India, and Section 4 details the primary insights derived from this research.

2. Preliminaries

In this section, we will introduce fundamental ideas and terminology related to the OWA operator. Additionally, we will explore various extensions of the OWA function and delve into the classical coefficient-of-variation concept.

2.1. Ordered Weighted Average (OWA) Operator and Its Extensions

The OWA function provides a means of incorporating insights from experts into mathematical operations [3]. The OWA function offers versatility by reconfiguring the average according to various criteria and providing a range of outcomes from a minimum value to a maximum value [16]. Its definition is outlined as follows:

Definition 1. An OWA function is defined as a mapping $OWA : \mathbb{R}^n \to \mathbb{R}$, where \mathbb{R} is any real number. Then, the formula for the OWA function is defined as

$$OWA(a_1, a_2, a_3, \dots, a_n) = \sum_{j=1}^n w_j b_j,$$
 (1)

where b_j is the *j*th-largest element of the collection a_1, a_2a_3, \ldots, a_n ; each a_i is accompanied by a weight vector W of size n, where n represents the dimension such that $\sum_{j=1}^n w_j = 1$; and the weight w_j assigned to each element lies within the range of 0 to 1.

The heavy ordered weighted average (HOWA) operator, an extension of the OWA operator, leverages the weighting vector and its values to generate diverse scenarios [17]. Unlike the OWA operator, the HOWA function does not restrict the values of the weighting vector to 1, allowing for the creation of new scenarios that may either underestimate or overestimate the final results. The formula for the HOWA function is as follows:

Definition 2. An HOWA function is defined as a mapping HOWA : $\mathbb{R}^n \to \mathbb{R}$, where **R** is any real number. Then, the formula for the HOWA function is defined as

$$HOWA(a_1, a_2, a_3, \dots, a_n) = \sum_{j=1}^n w_j b_j,$$
(2)

where b_j is the jth-largest element of the collection a_1, a_2a_3, \ldots, a_n ; each a_i is accompanied by a weight vector W of size n; and the weight w_j assigned to each element lies within the range of 0 to 1 such that $1 \leq \sum_{j=1}^{n} w_j \leq n$. Depending on the specific requirements and objectives, it is possible to expand the weighting vector from 1 to ∞ or even from $-\infty$ to ∞ .

The induced heavy ordered weighted average (IOWA) function emerges as one of the extensions to the reordering step of the OWA function [4]. Unlike the OWA operator, the IOWA function offers a distinct advantage by allowing the reordering step to be guided by the decision maker's knowledge rather than relying solely on the largest element of the collection. The definition of the IOWA function is as follows:

Definition 3. An IOWA function is defined as a mapping IOWA : $\mathbb{R}^n \times \mathbb{R}^n \to \mathbb{R}$, where **R** is any real number. Then, the formula for the IOWA function is defined as

$$IOWA(\langle u_1, a_1 \rangle, \langle u_2, a_2 \rangle, \langle u_3, a_3 \rangle, \dots, \langle u_n, a_n \rangle) = \sum_{j=1}^n w_j b_j,$$
(3)

where b_j is the a_i value of the IOWA pair $\langle u_i, a_i \rangle$ having the j^{th} -largest u_i ; u_i is the order-induced variable; a_i is the argument variable, with an associated weight vector W of dimension n such that $\sum_{j=1}^{n} w_j = 1$; the weight w_j is assigned to each element that lies within the range of 0 to 1; and an induced set of ordering variables is also included (u_i) .

Other extensions enrich the final results, including probability-based approaches [10]. A notable case is the probabilistic ordered weighted average (POWA) operator, which employs two vectors in the calculation: the conventional OWA function weighting vector and a probabilistic vector reflecting event probabilities. Both vectors have values less than 1. The formal definition of the POWA operator is as follows [14]:

Definition 4. *The POWA function is defined as a mapping POWA* : $\mathbb{R}^n \to \mathbb{R}$, where **R** *is any real number. Then, the formula for the POWA function is defined as*

$$POWA(a_1, a_2, a_3, \dots, a_n) = \sum_{j=1}^n \hat{p}_j b_j,$$
(4)

where b_j is the j^{th} -biggest argument of $a_1, a_2, a_3, \ldots, a_n$; each argument a_i is associated with a probability p_i between 0 and 1; the sum of the probability is 1; $\hat{p}_j = \beta \omega_j + (1 - \beta) p_j$ with $\beta \in [0, 1]$; and p_j is the probability of p_i ordered according to b_j , that is, according to the j^{th} -largest element of a_i .

The induced probabilistic ordered weighted average (IPOWA) function can encompass the features of induced and probabilistic operators within a single formulation. Merigó [10] defines the IPOWA operator. The definition of the IPOWA function is as follows:

Definition 5. An IPOWA function is defined as a mapping IPOWA : $\mathbb{R}^n \times \mathbb{R}^n \to \mathbb{R}$, where \mathbb{R} , any real number, incorporates an associated weight vector W of dimension n. Then, the formula for the IPOWA function is defined as

$$IPOWA(\langle u_1, a_1 \rangle, \langle u_2, a_2 \rangle, \langle u_3, a_3 \rangle, \dots, \langle u_n, a_n \rangle) = \sum_{i=1}^n \hat{v}_i b_i,$$
(5)

where b_j is the j^{th} -largest u_i , u_i is the order-induced variable, and a_i is the argument variable where each element a_i has an associated probability p_i where $\sum_{i=1}^{n} p_i = 1$ and $p_i \in [0,1]$, $\hat{v}_j = \beta \omega_j + (1-\beta)p_j$ with $\beta \in [0,1]$ and p_j is the probability of p_i ordered according to b_j , that is according to the j^{th} -largest u_i .

Ultimately, the reordering attribute of the IOWA function converges with the unrestricted weighted vector of the HOWA function within the induced heavy ordered weighted average (IHOWA) function [18], encapsulating both features in a unified formulation. Its definition is as follows:

Definition 6. An IHOWA function is defined as a mapping IHOWA : $\mathbb{R}^n \times \mathbb{R}^n \to \mathbb{R}$, where **R** is any real number and incorporates an associated weight vector W of dimension n. Then, the formula for the IHOWA function is defined as

$$IHOWA(\langle u_1, a_1 \rangle, \langle u_2, a_2 \rangle, \langle u_3, a_3 \rangle, \dots, \langle u_n, a_n \rangle) = \sum_{i=1}^n w_i b_i, \tag{6}$$

where b_j is the a_i value of the IHOWA pair $\langle u_i, a_i \rangle$ having the j^{th} -largest u_i , u_i is the orderinduced variable, and a_i is the argument variable. Depending on the specific requirements and objectives, it is possible to expand the weighting vector from 1 to ∞ or even from $-\infty$ to ∞ .

2.2. Coefficient of Variation

The rapid development of agricultural products in the futures market has led to a significant increase in price volatility [19,20]. Particularly since the second half of 2008, there has been a decrease in prices for various commodities, particularly agricultural ones, accompanied by an escalation in price variation [21]. This trend can be attributed to multiple factors, for example, low inventory levels, the depreciation of the US dollar, and the growing production of biofuels [22].

Given the prevailing circumstances, it becomes crucial to generate new scenarios that account for the potential volatility in the prices of various products, including agricultural ones. One of the traditional approaches for calculating volatility uses the coefficient of variation, which can be defined as follows:

Definition 7. The coefficient of variation of a given set of arguments $a_1, a_2, a_3, \ldots, a_n$ can be defined as

$$cv(a_1, a_2, a_3, \dots, a_n) = \frac{\sigma(a_1, a_2, a_3, \dots, a_n)}{\mu(a_1, a_2, a_3, \dots, a_n)},$$
(7)

where cv represents the coefficient of variation, σ denotes the standard deviation, and μ represents the mean or average of the set of arguments $(a_1, a_2, a_3, ..., a_n)$. This formulation quantifies the relationship between the standard deviation and the mean, providing insight into the volatility of the set [23].

The classical formulation for the coefficient of variation has a significant drawback: it solely relies on historical data to obtain final results. However, it becomes crucial to incorporate information from past and future scenarios to obtain more realistic outcomes that align with the subject under study [24,25]. In this regard, using the OWA function and its extensions offers a solution by allowing the aggregation of knowledge, expectations, and the decision maker's attitude in the final results. The OWA_{cv} formulation can be defined as follows [6]:

Definition 8. An OWA_{cv} function is defined as a mapping OWA_{cv} : $\mathbb{R}^n \to \mathbb{R}$, where **R** is any real number. Then, the formula for the OWA_{cv} function is defined as

$$OWA_{cv}(a_1, a_2, a_3, \dots, a_n) = \frac{\sigma_{OWA}}{\mu_{OWA}},$$
(8)

where σ_{OWA} is the OWA standard deviation and μ_{OWA} is the OWA average, with an associated weight vector W of dimension n such that $\sum_{j=1}^{n} w_j = 1$ and the weight w_j assigned to each element lies within the range of 0 to 1.

As seen in the formulation, it is possible to visualize different scenarios using the OWA operator in the standard deviation and the average. Depending on the specific problem under analysis, the suitability of employing a reordering process in both formulation components might be questionable. This becomes apparent when the information lacks subjectivity or the outcomes demonstrate inconsistencies arising from the applied reordering procedure. This integration is possible by including a weighting vector within the standard deviation and average calculations. Traditionally, the average assigns equal importance to all data (using a weighting vector of 1/n). However, the decision maker's expectations and knowledge may warrant assigning greater or lesser importance to the newest or oldest data points.

The formulations for the coefficient of variation using the IOWA, HOWA, POWA, IHOWA, and IPOWA operators follow the same structure as that of the OWA_{cv} , for example, the $IOWA_{cv} = \frac{\sigma_{IOWA}}{\mu_{IOWA}}$, derived from the redundancy of the formulations. These are not written in detail.

As has been defined by [26], the general formulation will be the case where both the μ and the σ use the aggregation operator. Case 1 will be using the operator just in the μ , and case 2 will be using the operator just in the σ . In this context, the OWA function and its extensions are vital in generating scenarios that align with the information provided by the decision maker. By modifying the weighting vector and implementing diverse reordering steps, these operators help generate alternative scenarios that reflect the decision maker's preferences and insights.

3. Employing OWA Operators and Their Extensions for Analyzing Rice Price Variation *3.1. Definition of the Process for Analyzing the Information*

One of the main drawbacks of the coefficient-of-variation formulation is that it only includes historical information, leaving out any knowledge or expectation of the immediate future that the experts and decision makers have about the topic being analyzed [27]. Therefore, in addition to the traditional analysis, using different operators that provide new

insight by aggregating different elements of information will provide a better understanding of the problem and generate new, unforeseen scenarios [28,29]. In agricultural production, price volatility becomes an important element to analyze because it will help the farmers decide which product to sow [30,31].

The following steps should be followed to obtain the variation based on the OWA operators and their extensions:

Step 1. Determine the period for calculation (e.g., quarter-year, half-year, full-year) based on decision criteria.

Step 2. Collect price data.

Step 3. Define a weighting vector reflecting the importance of the information and the decision maker's knowledge. In this step, the values of the vector used in the OWA operator are obtained.

Step 4. Obtain the weight vector for heavy values, adjustable from $-\infty$ to ∞ , enabling under- or over-estimation of the result as needed. The main idea is to obtain weights that will correspond to the expectations of the following year's prices. If the price is expected to rise, then the value of the vector must be higher than 1, and if the price is expected to fall, then the weights must add up to less than 1.

Step 5. Establish an ordered vector to arrange weights according to the expectations of the decision maker. The idea is to obtain induced values in which the ordered weights align to the values. The induced vector incorporates the visualization of specific situations that are not included in the original weight's values.

Step 6. Develop a probability vector. Also, ensure that the sum of the percentages allocated to weighting and probability vectors is 100%. Probabilities will help incorporate the information considering different elements, this time using the concept of the percent of occurrence of that value. An important thing to consider in this step is that the relative importance of the weighting and probability vector is defined.

Step 7. Using information from Steps 1 to 6, construct diverse formulations using OWA_{cv} and its extensions. Consider the general formulation case 1 and case 2.

Step 8. Conduct an analysis using outcomes from various operator formulations.

3.2. Case of Rice Prices in India in 2022–2023

Step 1. We identify how often the latest data are available. The Ministry of Commerce and Industry of the Government of India provides the rice price data monthly.

Step 2. With the information provided, the average monthly spot price of the rice is obtained from April 2022 to March 2023 (see Table 1).

Date	Rice Price (USD)
April 2022	806.60
May 2022	855.25
June 2022	1060.80
July 2022	930.29
August 2022	1041.70
September 2022	782.90
Ôctober 2022	703.83
November 2022	800.52
December 2022	1017.60
January 2023	826.23
February 2023	1034.90
March 2023	1127.40

Table 1. The average monthly spot price of rice in USD.

Source. https://tradestat.commerce.gov.in/meidb/comq.asp?ie=e., accessed on 1 August 2023.

Step 3. From this step onward, an expert (an advisor to the agricultural sector with more than 10 years of experience, specifically with companies that grow rice) is consulted

about the weights that should be used. The idea is to obtain the expectations of the decision maker about different elements. The weighting vector is defined as follows:

W = (0.05, 0.05, 0.05, 0.05, 0.08, 0.08, 0.08, 0.10, 0.10, 0.12, 0.12, 0.12)

This vector considers the relative importance of each month to the average; that is why the expert gives a higher score to the most recent months and a lower value to the further months, because as per their experience, the future price will be more related to the newer values than the older ones.

Step 4. The heavy weights vector is defined as follows:

H = (0.05, 0.05, 0.05, 0.05, 0.10, 0.10, 0.10, 0.10, 0.15, 0.15, 0.15, 0.20)

The reason for these values is that the price is expected to increase because of the macroeconomic events still having a considerable influence on the prices of agricultural products. The expert also informs that rice prices will increase according to product demands; some news agrees with this forecast [32].

Step 5. The induced vector is defined as follows:

U = (1, 3, 2, 6, 8, 9, 5, 4, 7, 10, 12, 11)

These values represent the expectation of the expert that the future prices will have values similar to the prices during the reference month, that is, they will fall within the highest and lowest prices of the reference month.

Step 6. A probability vector P consists of probabilities assigned to different events or outcomes, reflecting the likelihood or chance of each event occurring. The vector is defined as follows:

P = (0.05, 0.05, 0.05, 0.05, 0.05, 0.10, 0.10, 0.10, 0.10, 0.10, 0.10, 0.15)

The weighting vector carries a weightage of 60%, emphasizing its significance in the overall assessment. In comparison, the probability vector holds a weightage of 40%, contributing to evaluating the probabilities associated with different outcomes.

Step 7. With the information provided by the expert, the different results are calculated using the traditional formulation and the OWA operators and its extensions. To understand the process better, the results are explained in detail next.

3.2.1. Coefficient of Variation

The first result was obtained using the traditional formula of coefficient of variation (see Table 2).

Table 2. Rice price coefficient of variation.

Date	x (Rice Price)	$(x-\mu)^2$
April 2022	806.6	11,895.90
May 2022	855.25	3650.38
June 2022	1060.8	21,063.20
July 2022	930.29	213.79
August 2022	1041.7	15,883.98
September 2022	782.9	17,627.43
Ôctober 2022	703.83	44,875.48
November 2022	800.52	13,259.14
December 2022	1017.6	10,390.06
January 2023	826.23	7999.22
February 2023	1034.9	14,216.19
March 2023	1127.4	44,830.30
	$\mu = 915.67$	205,890.84

To calculate the standard deviation:

$$\sigma = \sqrt{\sum \frac{(x-\mu)^2}{n}} = \sqrt{\frac{205,890.84}{12}} = 130.987$$

The coefficient of variation is $\frac{130.987}{915.66} = 0.14305$.

Applying the traditional formula for the coefficient of variation to the provided rice price data, we obtained a mean (μ) of 915.67 and a standard deviation (σ) of 130.987. This calculation results in a coefficient of variation of approximately 0.14305, offering a quantitative measure of rice price variability essential for risk assessment and decision making.

3.2.2. Coefficient-of-Variation Calculation Using OWA Operators and Their Extensions

A specific analysis for each operator was carried out to understand how the formulations are being used. To understand the most complex situation, the general formulation is presented; this is the case where the aggregation operators are used in both σ and μ .

(a) OWA_{cv} operator (see Table 3): It assigns different weighting factors to x-prices, reflecting their varying importance in the analysis. This customization allows stakeholders to tailor the analysis to their specific objectives and data characteristics. The correspondence between weighting factors and x-prices is crucial for quantifying the impact of each data point on the calculated coefficient of variation OWA_{cv} . It offers flexibility, transparency, and sensitivity analysis to ensure robust results and informed decision making.

x (Rice Price)	W	x * W	$(x - \mu)^2$
1127.4	0.12	135.29	29,216.35
1060.8	0.12	127.30	10,884.31
1041.7	0.12	125.00	7263.79
1034.9	0.1	103.49	6150.94
1017.6	0.1	101.76	3736.62
930.29	0.08	74.42	685.50
855.25	0.08	68.42	10,245.91
826.23	0.08	66.10	16,963.00
806.6	0.05	40.33	22,461.65
800.52	0.05	40.03	24,321.06
782.9	0.05	39.15	30,127.27
703.83	0.05	35.19	63,828.03
			,

Table 3. Rice price coefficient of variation with OWA.

To calculate the standard deviation:

$$\sigma = \sqrt{\sum \frac{\left(x - \mu_{OWA}\right)^2}{n}} = \sqrt{\frac{225,884.44}{12}} = 137.19$$

 $\mu_{OWA} = 956.47$

225,884.44

The OWA_{cv} is $\frac{137.19}{956.47} = 0.1434$.

The calculated standard deviation (σ) and resulting OWA_{cv} , of 0.1434, indicate the level of rice price variability, providing a key quantitative measure for risk assessment.

(b) $IOWA_{cv}$ operator (see Table 4): It is effective in quantifying rice price variability, offering an alternative perspective for assessing risk. The correspondence between the weighting factors and the x-prices allows for customization, reflecting the varying importance of data points in the analysis. This flexibility makes it a valuable tool for stakeholders to tailor risk assessments and decision making to their specific objectives and data characteristics.

x (Rice Price)	W	x * W	$(x-\mu)^2$
1127.4	0.12	135.29	31,933.55
1060.8	0.12	127.30	12,566.32
1041.7	0.12	125.00	8648.93
1034.9	0.08	82.79	7430.37
1017.6	0.08	81.41	4747.15
930.29	0.1	93.03	338.94
855.25	0.05	42.76	8732.98
826.23	0.08	66.10	14,999.00
806.6	0.1	80.66	20,192.52
800.52	0.05	40.03	21,957.43
782.9	0.05	39.15	27,489.77
703.83	0.05	35.19	59,961.51
		$\mu_{IOWA}=$ 948.70	218,998.48

Table 4. Rice price coefficient of variation with IOWA.

To calculate the standard deviation:

$$\sigma = \sqrt{\sum \frac{\left(x - \mu_{IOWA}\right)^2}{n}} = \sqrt{\frac{218,998.48}{12}} = 135.09$$

The $IOWA_{cv}$ is $\frac{135.09}{948.70} = 0.1424$. Using the IOWA formula for the coefficient of variation with the provided rice price data, we found a mean $IOWA_{cv}$ of 948.70 and a calculated standard deviation (σ) of 135.09. Therefore, the coefficient of variation IOWA_{cv} is approximately 0.1424, offering a valuable quantitative measure of rice price variability, aiding in risk assessment and decision making.

HOWA_{cv} operator (see Table 5): The correspondence between the weighting factors (c) and the x-prices allows for a customized assessment of risk, reflecting the varying importance of data points.

Table 5. Ric	e price	coefficient	of varia	tion with	HOWA.
--------------	---------	-------------	----------	-----------	-------

x (Rice Price)	Н	x * H	$(x-\mu)^2$
1127.4	0.2	225.48	7451.06
1060.8	0.15	159.12	23,384.37
1041.7	0.15	156.26	29,590.71
1034.9	0.15	155.24	31,976.41
1017.6	0.1	101.76	38,462.86
930.29	0.1	93.03	80,332.28
855.25	0.1	85.53	128,500.38
826.23	0.1	82.62	150,148.11
806.6	0.05	40.33	165,746.29
800.52	0.05	40.03	170,733.83
782.9	0.05	39.15	185,605.44
703.83	0.05	35.19	259,987.30
		$\mu_{HOWA} = 1213.72$	1,271,919.04

To calculate the standard deviation:

$$\sigma = \sqrt{\sum \frac{\left(x - \mu_{HOWA}\right)^2}{n}} = \sqrt{\frac{1,271,919.04}{12}} = 325.57$$

The *HOWA*_{*cv*} is $\frac{325.57}{1213.72} = 0.2682$.

The resulting high coefficient of variation $(HOWA_{cv})$, of 0.2682, signifies substantial price variability, making this methodology valuable for stakeholders in risk assessment and decision making, particularly in scenarios with significant data heterogeneity.

(d) $POWA_{cv}$ operator (see Table 6): It quantifies rice price variability with a unique combination of weighting factors. The correspondence between the weighting factors and the x-prices allows for tailored risk assessment, accommodating the varying importance of data points.

x (Rice Price)	W	Р	(x * W * 0.60) + (x * P * 0.40)	$(x-\mu)^2$
1127.4	0.12	0.15	148.82	28,848.87
1060.8	0.12	0.1	118.81	10,660.47
1041.7	0.12	0.1	116.67	7081.15
1034.9	0.1	0.1	103.49	5982.95
1017.6	0.1	0.1	101.76	3605.95
930.29	0.08	0.1	81.87	743.13
855.25	0.08	0.1	75.26	10,465.38
826.23	0.08	0.05	56.18	17,245.06
806.6	0.05	0.05	40.33	22,786.04
800.52	0.05	0.05	40.03	24,658.57
782.9	0.05	0.05	39.15	30,502.78
703.83	0.05	0.05	35.19	64,374.07
			$\mu_{POWA} = 957.55$	226,954.42

Table 6. Rice price coefficient of variation with POWA.

To calculate the standard deviation:

$$\sigma = \sqrt{\sum \frac{\left(x - \mu_{POWA}\right)^2}{n}} = \sqrt{\frac{226,954.42}{12}} = 137.52$$

The $POWA_{cv}$ is $\frac{137.52}{957.55} = 0.1436$.

The resulting coefficient of variation ($POWA_{cv}$), of 0.1436, provides a valuable measure of price variability, offering insights for stakeholders in risk assessment and decision making in the context of this particular formulation.

(e) IHOWA_{cv} operator (see Table 7): It is a specialized mathematical aggregation operator that allows decision makers to assign higher weights or importance to specific criteria or attributes within the decision process.

Table 7. Rice price coefficient of variation with *IHOWA*.

x (Rice Price)	H	x * H	$(x-\mu)^2$
1127.4	0.15	169.11	5674.08
1060.8	0.2	212.16	20,143.13
1041.7	0.15	156.26	25,929.53
1034.9	0.1	103.49	28,165.73
1017.6	0.1	101.76	34,271.82
930.29	0.15	139.54	74,221.65
855.25	0.05	42.76	120,739.92
826.23	0.1	82.62	141,749.61
806.6	0.1	80.66	156,916.20
800.52	0.05	40.03	161,770.07
782.9	0.05	39.15	176,254.29
703.83	0.05	35.19	248,897.72
		$\mu_{IHOWA} = 1202.73$	1,194,733.76

To calculate the standard deviation:

$$\sigma = \sqrt{\sum \frac{\left(x - \mu_{IHOWA}\right)^2}{n}} = \sqrt{\frac{1,194,733.76}{12}} = 315.53$$

The *POWA*_{cv} is $\frac{315.53}{1202.73} = 0.2623$.

A higher $IHOWA_{cv}$ indicates that the data have a higher level of variability relative to their mean, while a lower $IHOWA_{cv}$ suggests that the data are more stable and have less variability relative to their mean.

(f) *IPOWA_{cv}* operator (see Table 8): This operator allows for the customization of weighting factors based on the importance of specific criteria, combining both weighted and probabilistic considerations.

x (Rice Price)	W	Р	(x * W * 0.60) + (x * P * 0.40)	$(x-\mu)^2$
1127.4	0.12	0.1	126.27	32,632.60
1060.8	0.12	0.15	140.03	13,006.25
1041.7	0.12	0.1	116.67	9014.55
1034.9	0.08	0.1	91.07	7769.53
1017.6	0.08	0.05	69.20	5019.01
930.29	0.1	0.1	93.03	271.10
855.25	0.05	0.05	42.76	8373.17
826.23	0.08	0.1	72.71	14,526.29
806.6	0.1	0.1	80.66	19,643.44
800.52	0.05	0.05	40.03	21,384.69
782.9	0.05	0.05	39.15	26,848.47
703.83	0.05	0.05	35.19	59,012.58
			$\mu_{IPOWA} = 946.76$	217,501.67

Table 8. Rice price coefficient of variation with *IPOWA*.

To calculate the standard deviation:

$$\sigma = \sqrt{\sum \frac{\left(x - \mu_{IHOWA}\right)^2}{n}} = \sqrt{\frac{217,501.67}{12}} = 134.63$$

The *IPOWA*_{cv} is $\frac{134.63}{946.76} = 0.1422$.

The result is in an $IPOWA_{cv}$ value of 0.1422, signifying rice price variability. This information, complemented by the standard deviation (σ) and mean (μ), supports risk assessment and decision making. Lower $IPOWA_{cv}$ values indicate price stability, while higher values imply greater variability, enabling stakeholders to align strategies with their risk preferences effectively.

All the information and the results of the coefficient of variation using the different aggregation operators and the generalized formulation (case 1 and case 2) are presented in Table 9.

Table 9. Coefficient of variation for rice in India using aggregation operators.

Formulation	σ	μ	General	Case 1	Case 2
Traditional	130.99	915.66	0.1431		
OWA_{cv}	137.19	956.47	0.1434	0.1369	0.1498
$IOWA_{cv}$	135.09	948.70	0.1424	0.1381	0.1475
$HOWA_{cv}$	325.57	1213.72	0.2682	0.1079	0.3556
$POWA_{cv}$	137.52	957.55	0.1436	0.1368	0.1502
<i>IHOWA</i> _{cv}	315.53	1202.73	0.2623	0.1089	0.3446
<i>IPOWA</i> _{cv}	134.63	946.76	0.1422	0.1384	0.1470

Step 8. With results obtained from Table 9, it is possible to visualize that the coefficient of variation of the price of rice in India goes from 0.1079 to 0.3556. In a more detailed analysis, it is possible to assume that the price can vary from 10% to 36% for the following months. This interpretation is critical because a heavy-weighting vector may not provide the most accurate estimate of rice prices in India, but stakeholders still want to incorporate it into their calculations because they believe it aligns with expectations of high demand for rice in the future, which is in line with what they have seen in news reports. This decision reflects a balance between potentially biased data and market insights.

Furthermore, this examination has the potential to enable the prediction of various factors, including the projected quantity of rice cultivation. A farmer's choice of agricultural product to cultivate hinges on their anticipation of future product prices. Presently, a product might have a certain price, but the actual harvest occurs later. Consequently, having diverse methodologies that facilitate the visualization of potential price ranges for the product becomes crucial. This insight helps ascertain whether engaging in its cultivation would be a lucrative decision.

Simultaneously, policymakers can leverage these formulations to gain enhanced foresight into the future. Through these emerging scenarios, they can develop more strategic policies and regulations to oversee the engagement of distinct economic sectors. For instance, when the visualization of price fluctuations exceeds governmental projections, a measure such as acquiring derivatives can be employed. This serves to mitigate the risk of losses within the agricultural sector.

Employing distinct formulations within the traditional coefficient-of-variation framework enhances decision-making perspectives, enabling the exploration of new scenarios inaccessible via the traditional approach. Integrating these novel operators empowers subject matter experts to incorporate decision makers' knowledge, expectations, and attitudes, enriching the result.

The analysis results, derived from various formulations assessing rice price volatility, hold significant implications for diverse stakeholders. These findings, characterized by differing levels of price variability, play a pivotal role in shaping economic decisions and policy considerations. Stakeholders, including farmers, traders, and policymakers, can employ these insights to gauge and mitigate risks associated with price fluctuations. The comparative analysis underscores the importance of selecting the appropriate volatility measure, enabling more informed decision making. Furthermore, the results may spur further research and the identification of actionable strategies to enhance price stability in the rice market, benefiting both the agricultural sector and consumers.

4. Conclusions

The main objective of this paper is to integrate different aggregation operators, such as OWA operators, and their extensions to calculate the coefficient of variation in the price of agricultural products, specifically in rice prices in India. The purpose of using these methods is to integrate into the formulation not just the historical data but the decision maker's knowledge, expectations, and experience in the calculation process. The idea is to include that information about the future in a formulation that usually just considers the past, providing a better insight into the problem being analyzed and generating new scenarios that the decision maker must consider. The first thing that was accomplished was to define the coefficient of variation using the OWA operator, which was called OWA_{cv} . Also, the induced, heavy, and probability OWA operator and their combinations were presented.

This paper extends its contributions by applying the formulated methodologies to assess rice prices within the 2022–2023 timeframe. Given rice's pivotal role as a staple commodity in India, accurately identifying variations in its price is critical to ensuring that local farmers make a profit in rice farming. Notably, our findings reveal that introducing more intricate aggregation scenarios and incorporating new vectors in the process provide a fresh perspective. Such insights, unattainable through conventional formulas, empower decision makers to comprehend market intricacies better and make informed choices that mitigate the company's risks. This innovative approach broadens the understanding of market dynamics and offers alternative avenues for risk mitigation.

In our upcoming research, we aim to enrich the volatility formulation by integrating diverse mathematical techniques, such as Bonferroni means [33,34], moving averages [35,36], linguistic variables [29,37], and prioritized operators [38,39]. We will focus on applying these enhanced formulations within group decision-making scenarios and expansive large-scale contexts. Furthermore, our investigation will extend to the synergistic integration of these formulations with the theory of expertons [40,41], forgotten effects [42,43], and a range of aggregation function methodologies.

Author Contributions: Conceptualization, S.W. and M.S.; methodology, S.W. and E.L.-C.; validation, M.S. and C.M.-C., formal analysis, S.W. and E.L.-C.; writing—original draft preparation, S.W., M.S., C.M.-C. and E.L.-C.; writing—review and editing, S.W., M.S., C.M.-C. and E.L.-C. All authors have read and agreed to the published version of the manuscript.

Funding: The APC was funded by UCSC 2023.

Institutional Review Board Statement: Not applicable.

Informed Consent Statement: Not applicable.

Data Availability Statement: We are grateful for the resources, data, and information provided by the Ministry of Commerce and Industry, Department of Commerce, Government of India, which have been instrumental in us conducting our research and analysis. Their commitment to promoting and facilitating trade and commerce in India has been a crucial factor in our ability to understand the market dynamics and incorporate relevant information into our study.

Acknowledgments: Red Sistemas Inteligentes y Expertos Modelos Computacionales Iberoamericanos (SIEMCI), project number 522RT0130 in Programa Iberoamericano de Ciencia y Tecnologia para el Desarrollo (CYTED).

Conflicts of Interest: The authors declare no conflict of interest.

References

- Ding, R.-X.; Palomares, I.; Wang, X.; Yang, G.-R.; Liu, B.; Dong, Y.; Herrera-Viedma, E.; Herrera, F. Large-Scale Decision-Making: Characterization, Taxonomy, Challenges and Future Directions from an Artificial Intelligence and Applications Perspective. *Inf. Fusion* 2020, *59*, 84–102. [CrossRef]
- Huchet-Bourdon, M. Agricultural Commodity Price Volatility: An Overview; OECD Food, Agriculture and Fisheries Papers; OECD Publishing: Paris, France, 2011; Volume 52.
- 3. Yager, R.R. On Ordered Weighted Averaging Aggregation Operators in Multicriteria Decisionmaking. *IEEE Trans. Syst. Man Cybern.* **1988**, *18*, 183–190. [CrossRef]
- Yager, R.R. On the Inclusion of Variance in Decision Making under Uncertainty. Int. J. Uncertain. Fuzziness Knowl.-Based Syst. 1996, 4, 401–419. [CrossRef]
- 5. Yager, R.R. Generalizing Variance to Allow the Inclusion of Decision Attitude in Decision Making under Uncertainty. *Int. J. Approx. Reason* **2006**, *42*, 137–158. [CrossRef]
- Leon-Castro, E.; Espinoza-Audelo, L.F.; Merigo, J.M.; Herrera-Viedma, E.; Herrera, F. Measuring Volatility Based on Ordered Weighted Average Operators: The Case of Agricultural Product Prices. *Fuzzy Sets Syst.* 2021, 422, 161–176. [CrossRef]
- IBEF Agriculture and Food Industry and Exports. Available online: https://www.ibef.org/exports/agriculture-and-foodindustry-india (accessed on 1 August 2023).
- ITP Agriculture and Food Industry and Export. Available online: https://www.indiantradeportal.in/vs.jsp?lang=0&id=0,31,241 00,24101 (accessed on 1 July 2023).
- León-Castro, E.; Avilés-Ochoa, E.; Merigó, J.M.; Gil-Lafuente, A.M. Heavy Moving Averages and Their Application in Econometric Forecasting. *Cybern. Syst.* 2018, 49, 26–43. [CrossRef]
- 10. Merigó, J.M. Fuzzy Decision Making with Immediate Probabilities. Comput. Ind. Eng. 2010, 58, 651–657. [CrossRef]
- Merigó, J.M. Decision-Making under Risk and Uncertainty and Its Application in Strategic Management. J. Bus. Econ. Manag. 2015, 16, 93–116. [CrossRef]
- 12. Yager, R.R. The Power Average Operator. IEEE Trans. Syst. Man Cybern.-Part Syst. Hum. 2001, 31, 724–731. [CrossRef]
- Capuano, N.; Chiclana, F.; Fujita, H.; Herrera-Viedma, E.; Loia, V. Fuzzy Group Decision Making with Incomplete Information Guided by Social Influence. *IEEE Trans. Fuzzy Syst.* 2017, 26, 1704–1718. [CrossRef]
- 14. Merigó, J.M. Probabilities in the OWA Operator. Expert Syst. Appl. 2012, 39, 11456–11467. [CrossRef]

- 15. Qin, J. A Survey of Type-2 Fuzzy Aggregation and Application for Multiple Criteria Decision Making. J. Data Inf. Manag. 2019, 1, 17–32. [CrossRef]
- 16. Medina, J.; Yager, R.R. OWA Operators with Functional Weights. Fuzzy Sets Syst. 2021, 414, 38–56. [CrossRef]
- 17. Yager, R.R. Heavy OWA Operators. Fuzzy Optim. Decis. Mak. 2002, 1, 379–397. [CrossRef]
- Merigo, J.M.; Casanovas, M. Induced and Heavy Aggregation Operators with Distance Measures. J. Syst. Eng. Electron. 2010, 21, 431–439. [CrossRef]
- Bomfim, A.N. Pre-Announcement Effects, News Effects, and Volatility: Monetary Policy and the Stock Market. J. Bank. Financ. 2003, 27, 133–151. [CrossRef]
- León-Castro, E.; Avilés-Ochoa, E.; Merigó, J.M. Induced Heavy Moving Averages. Int. J. Intell. Syst. 2018, 33, 1823–1839. [CrossRef]
- 21. Merigo, J.M.; Gil-Lafuente, A.M. New Decision-Making Techniques and Their Application in the Selection of Financial Products. *Inf. Sci.* 2010, *180*, 2085–2094. [CrossRef]
- Merigó, J.M.; Casanovas, M.; Yang, J.-B. Group Decision Making with Expertons and Uncertain Generalized Probabilistic Weighted Aggregation Operators. *Eur. J. Oper. Res.* 2014, 235, 215–224. [CrossRef]
- Flores-Sosa, M.; Avilés-Ochoa, E.; Merigó, J.M.; Yager, R.R. Volatility GARCH Models with the Ordered Weighted Average (OWA) Operators. Inf. Sci. 2021, 565, 46–61. [CrossRef]
- 24. Fleming, G.; Van der Merwe, M.; McFerren, G. Fuzzy Expert Systems and GIS for Cholera Health Risk Prediction in Southern Africa. *Environ. Model. Softw.* **2007**, *22*, 442–448. [CrossRef]
- Siraj, N.B.; Fayek, A.R. Hybrid Fuzzy System Dynamics Model for Analyzing the Impacts of Interrelated Risk and Opportunity Events on Project Contingency. *Can. J. Civ. Eng.* 2021, 48, 979–992. [CrossRef]
- 26. Leon-Castro, E.; Espinoza-Audelo, L.F.; Aviles-Ochoa, E.; Merigo, J.M.; Kacprzyk, J. A New Measure of Volatility Using Induced Heavy Moving Averages. *Technol. Econ. Dev. Econ.* 2019, 25, 576–599. [CrossRef]
- 27. Su, C.-H.; Cheng, C.-H. A Hybrid Fuzzy Time Series Model Based on ANFIS and Integrated Nonlinear Feature Selection Method for Forecasting Stock. *Neurocomputing* **2016**, 205, 264–273. [CrossRef]
- Raza, S.; Aslam, F.; Uzmi, Z.A. Online Routing of Bandwidth Guaranteed Paths with Local Restoration Using Optimized Aggregate Usage Information. In Proceedings of the IEEE International Conference on Communications, Seoul, Republic of Korea, 16–20 May 2005; Volume 1, pp. 201–207.
- Herrera-Viedma, E.; Palomares, I.; Li, C.-C.; Cabrerizo, F.J.; Dong, Y.; Chiclana, F.; Herrera, F. Revisiting Fuzzy and Linguistic Decision Making: Scenarios and Challenges for Making Wiser Decisions in a Better Way. *IEEE Trans. Syst. Man Cybern. Syst.* 2020, 51, 191–208. [CrossRef]
- Assouto, A.B.; Houensou, D.A.; Semedo, G. Price Risk and Farmers' Decisions: A Case Study from Benin. Sci. Afr. 2020, 8, e00311. [CrossRef]
- Paredes-Garcia, W.J.; Ocampo-Velázquez, R.V.; Torres-Pacheco, I.; Cedillo-Jiménez, C.A. Price Forecasting and Span Commercialization Opportunities for Mexican Agricultural Products. *Agronomy* 2019, 9, 826. [CrossRef]
- CNBC Global Rice Prices Surge Close to 12-Year Highs, and Could Rise Even More. Available online: https://www.cnbc.com/20 23/08/10/global-rice-prices-soar-close-to-12-year-highs-according-to-un-fao-.html (accessed on 9 August 2023).
- 33. Bonferroni, C. Sulle Medie Multiple Di Potenze. Boll. DellUnione Mat. Ital. 1950, 5, 267–270.
- Blanco-Mesa, F.; León-Castro, E.; Merigó, J.M. Covariances with OWA Operators and Bonferroni Means. Soft Comput. 2020, 24, 14999–15014. [CrossRef]
- 35. Merigo, J.M.; Yager, R.R. Generalized Moving Averages, Distance Measures and OWA Operators. *Int. J. Uncertain. Fuzziness Knowl.-Based Syst.* 2013, 21, 533–559. [CrossRef]
- Olazabal-Lugo, M.; Leon-Castro, E.; Espinoza-Audelo, L.F.; Maria Merigo, J.; Gil Lafuente, A.M. Forgotten Effects and Heavy Moving Averages in Exchange Rate Forecasting. *Econ. Comput. Econ. Cybern. Stud. Res.* 2019, 53, 79–96.
- Fedrizzi, M.; Kacprzyk, J. An Interactive Multi-User Decision Support System for Consensus Reaching Processes Using Fuzzy Logic with Linguistic Quantifiers. *Decis. Support Syst.* 1988, 4, 313–327. [CrossRef]
- 38. Yager, R.R. Prioritized OWA Aggregation. Fuzzy Optim. Decis. Mak. 2009, 8, 245–262. [CrossRef]
- Perez-Arellano, L.A.; Blanco-Mesa, F.; Leon-Castro, E.; Alfaro-Garcia, V. Bonferroni Prioritized Aggregation Operators Applied to Government Transparency. *Mathematics* 2021, 9, 24. [CrossRef]
- 40. Kaufmann, A. Theory of Expertons and Fuzzy Logic. Fuzzy Sets Syst. 1988, 28, 295–304. [CrossRef]
- Linares-Mustarós, S.; Ferrer-Comalat, J.C.; Corominas-Coll, D.; Merigó, J.M. The Ordered Weighted Average in the Theory of Expertons. Int. J. Intell. Syst. 2019, 34, 345–365. [CrossRef]
- Gil-Lafuente, A.M.; Blanco-Mesa, F.R.; Castillo-López, C. *The Forgotten Effects of Sport*; Springer: Berlin/Heidelberg, Germany, 2012; pp. 375–391.
- 43. Pérez-Romero, M.E.; Flores-Romero, M.B.; Alfaro-Garcia, V.G. Tourism and Destination Competitiveness: An Exploratory Analysis Applying the Forgotten Effects Theory. J. Intell. Fuzzy Syst. 2021, 40, 1795–1804. [CrossRef]

Disclaimer/Publisher's Note: The statements, opinions and data contained in all publications are solely those of the individual author(s) and contributor(s) and not of MDPI and/or the editor(s). MDPI and/or the editor(s) disclaim responsibility for any injury to people or property resulting from any ideas, methods, instructions or products referred to in the content.